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5x%—10 =5(x* - 2)

2x* —x =x(2x—1)
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X*-—a*=(x+a)(x-a)
2% =32 = 2(x* - 16) = 2(x + 4)(x - 4)
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x2—-27=x>-33=(x-3)(x* + 3x + a?

x?+a®=(x+a)(x* — ax + a?)
x}+64=x>+43=((x+4)(x*—-4x+ 16)
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X2 +5x—-6=(x+6)(x—1)
6+(-1)=5 ) LS6x-1=-6

x> -5x-6=(x—6)(x+1)
(—6)+1=-5 LS —6x1=-6

x> +x-20=(x+5)(x—4)
S54+(-4)=1 O LS 5x(—4) =20

X2 —-x-20=(x-5)(x+4)



PG e Dl el 2 Salaa oS 1Y
£m2+bx+c=(mr+ch)(x+¢h)

di+ad,=b ¢ dldzzcﬁi“i—‘:‘:"ﬁ dl!dz Jlf:;1£§j

P Py
2x+6x+4=02x+4)(x+1)
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3x°+2x—8=3x—-4)(x + 2)
—413x2=2 LS —4x2=-8

XX+ x-20=(x+5)(x—4)
X —x-20=(x-5)(x+4)
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